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@ Instructions: Read the article below and summarize it in your own words as
far as possible in English.
@® Suggested length: 60-70 words
@® Write your summary in the space provided on your answer sheet. Any

writing outside the space will not be graded.

In the 1990s, heavy traffic was a major problem in the City of London, making it
impossible for cars to move around the city at a decent speed. To tackle this problem, the
city introduced the world’s first congestion charge in 2003, requiring people to pay a fee
to drive in central London. The aim was to reduce the number of vehicles and encourage
more people to use public transport.

The policy proved effective soon after its introduction. In 2006, it was reported that
the charge had reduced congestion in central London by 30% and traffic by 15%. The
money collected from the drivers was used to create new cycle lanes or introduce new
bus routes. As a result, more drivers switched from cars to greener transport.

In later years, however, the city faced new challenges. Although the use of private
cars declined, more people began using taxis or private hire vehicles such as Uber. Also,
more delivery trucks were on the road as online shopping grew. In addition, some people
blamed the large amount of roadwork, such as the construction of new cycle lanes. They

claimed that such roadwork made traffic worse by taking space away from cars.
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In 2003, the City of London began charging motorists a congestion charge in the
hope of reducing traffic congestion. With the revenue invested in improving the city’s
public transportation system, the policy successfully contributed to better traffic and
increased use of alternative transportation. However, the increasing number of
commercial vehicles has caused the road to become congested again. Additionally, some
complained that too much construction activity was responsible for heavier traffic
conditions.
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